202100 000000 OO0oOboO obb0  202112.800 (900)

Doobooboooboobooboobo
obobooboobooboob.oboobuoobooboobobboboboobooba

flz,y)=2°—3zy+3y20000
(1

(2) 200000 foz,y) 00000

) 100000 fo(z,y) 00000
)
) o
)

(3 0z=f(x,y)DODO (2,3,17)D0000000O0OOOODOOODO

(4) f(z,y) DODODODDOOOODDODODODODODOOOOOOO(OUOODODDODOODODOOOOOOOO)

Fl@,y) = log, (1 + sin(3z) + cos(y)) 00 O O

(5) m(t):t3+2t+7r,y(t):3t2+2t+gﬂDDDDDD 2(t) = f(z(t),y(t) 000002t O
000 /(0000000000000

f(z,y) =Tan ' (e* +y) 00O O

(6) o(u,v) =3ud+v2+3, Y(u,v) =2uw+50000000 g(u,v) = f(p(u,v),¥(u,v)) 00
000g(u,0)00000 gu(u,v) 00000g,(-1,000000000

4|00 f(z,y)0 (0,000000 200000000000000

f(z,y) = agy + a1 T + ao1 y + as ¥ + ayy Ty + agr y* + o(r?) (r=+a22+y?—0)

gboobooodbooooooboboboooaoobo

(1) S = =20

(8) f(z,y) =1+ sin(z + y)O

(9) f(z,y) = log, (cos (27 +y))O

f(x,y) =% —423y? + 32yt — 2070000

(10) 000 lim L&Y

——=-000000000000000000.~,00000000
(@,9)—(0,0) (2% 4 y2)"



6] 40 Xo(1,3,5)0A(2.4,1)0B(1,1,2)0C(3,3,1) 00000
(11) 0300 OABODOOOOOOO

(12) D(ﬁDDDDDDDDDDDXODDDDD Aogobooooon

e — — e — — 6
(13) 000 HOOO X;00000X, X, 00BO0000O0X,X;00CO00000000 |6
2

000000000 X,020000000

31 [2 2
3| |4 3 2
4 _ _
RDDDDDW1—<4,4>, W2—<5,_8>DDDDD
4] |3 3

(14) dim(W; + W,) =300000000 k00000000

(15) 00 k0 (14) 000000000000 OW,NW, 00000000

a, a, a; eRROODODOOORO0OO0 YV = (vy,v9,v3) 000

1 ~1 1
a0a0a;0 VOOOOO0OO [ay)y= |3|0fas)y=1|2 |Oasly=|1|0000
2 3 k
1 p 5
OO0 RO00 B=(b,by,bs) 0 VOOOOOODO [by)y=|1|0[bo)y=|3|0[bsly=|1|0
2 4 11
4 2
R}000C=(ci,¢,¢5)0 BO00O00D0 [e))s= |3|0[ea]s= |3|0[es]lg=|1| 0000
3 2 1

(16) (a1,as,0;) 0 R*OO000000000KOO0DOOOOO0O
(17) ;0 YODOOOOOOOODO
(18) v, 0 BOOOODOOOO0O0OO0
9
3

900 4=

93 goooo

= W N W
= =N
Tt W N

k
(19) dimN(A)=100000000 k00000000

(200 00 k0 (19)0000000000000NA)0D00O0OOOO



